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Superpower relations and the Cold War, 1941–91 

1  Explain two consequences of the Berlin Crisis 1948-49. 

(8) 

Consequence 1 
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2  Explain two consequences of the Soviet invasion of Afghanistan 1979. 

(8) 

Consequence 1 
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3  Explain two consequences of the Truman Doctrine 1947. 

(8) 

Consequence 1 
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4  Write a narrative account analysing the key events of the fall of the Warsaw Pact in 1991. 

(8) 

You may use the following in your answer: 

• Gorbachev’s new thinking  

• The collapse of the Eastern Bloc 

 

You must also use information of your own 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 



9 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

______________________________________________________________________________ 

(Total for Question 4 = 8) 

 

  



10 

5  Write a narrative account analysing the key events of the Berlin Wall Crisis 1961. 

(8) 

You may use the following in your answer: 

• The Brain Drain  

• The construction of the Berlin Wall 

 

You must also use information of your own 
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6  Write a narrative account analysing the key events in Czechoslovakia 1968. 

(8) 

You may use the following in your answer: 

• Prague Spring reforms  

• Brezhnev Doctrine 

 

You must also use information of your own 
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7  Explain two of the following: 

(16) 

• The importance of the Potsdam Conference 1945 for the development of the Cold War  

• The importance of NATO  of 1949 on the development of international relations  

• The importance of SALT 1 in 1972 on the development of international relations 

Indicate your FIRST choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of the Potsdam Conference 1945 for the development of the Cold War  

The importance of NATO  of 1949 on the development of international relations  

The importance of SALT 1 in 1972 on the development of international relations  
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Indicate your SECOND choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of the Potsdam Conference 1945 for the development of the Cold War  

The importance of NATO  of 1949 on the development of international relations  

The importance of SALT 1 in 1972 on the development of international relations  
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(Total for Question 7 = 16) 
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8  Explain two of the following: 

(16) 

• The importance of the Truman Doctrine for the development of the Cold War  

• The importance of the Bay of Pigs crisis in 1961 on the development of the Cold War  

• The importance of Regan’s SDI programme on the development of international relations 

Indicate your FIRST choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of the Truman Doctrine for the development of the Cold War  

The importance of the Bay of Pigs crisis in 1961 on the development of the Cold War  

The importance of Regan’s SDI programme on the development of international relations  
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Indicate your SECOND choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of the Truman Doctrine for the development of the Cold War  

The importance of the Bay of Pigs crisis in 1961 on the development of the Cold War  

The importance of Regan’s SDI programme on the development of international relations  
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(Total for Question 8 = 16) 
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9  Explain two of the following: 

(16) 

• The importance of Soviet expansion in Eastern Europe for the development of international 

relations.   

• The importance of the Arms Race on the development of the Cold War  

• The importance of the Cuban Missile Crisis in 1962 on the development of The Cold War 

Indicate your FIRST choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of Soviet expansion in Eastern Europe for the development of international 

relations.  

The importance of the Arms Race on the development of the Cold War  

The importance of the Cuban Missile Crisis in 1962 on the development of The Cold War  
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Indicate your SECOND choice on this page. 

 

Indicate which part you are answering by marking a cross in the box. If you change your mind 

put a line through the box and then indicate your new question with a cross. 

 

The importance of Soviet expansion in Eastern Europe for the development of international 

relations.  

The importance of the Arms Race on the development of the Cold War  

The importance of the Cuban Missile Crisis in 1962 on the development of The Cold War  
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(Total for Question 9 = 16) 

 

 


